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1. Write the LHS and RHS of 5x - 3 = 12,
2, Write a statement for each of the following:

m |
(a) x+7=8 b 2y-3=11 (o) ?_5”'5
3. Solve :

(a) r+%-3% ) &-7=17 (c) %-‘14-2-4

4. Write T for true and F for false statements :
(a) An equation has two sides, separated by the sign of equality.
(b) An equation in which the highest power of the variable is 1, is called a linear equation
(c) 2x + y =7 is a linear equation in one variable.
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EXERCISE 7.1

| Which of the following are lincar
(i) 9x = 10 (ii) 3xt =14

equations in one variable?
(iiiy +3y=6 (V) l4x + 6= 8

(v) 6x2 —x=20  (vi) prp=2 (vil) 262 + Jx =6 (viil) .:-+|.¢

) M= =1 (%) §+%-q (xi] 14x + 6= 15y -2
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2. Write an equation for each of the following statements
(1) Thrice a number is 48,
(i) 2 times of a number added 10 9 gives 13,
(111 6 more than one fourth a number is 12.
(1v) Twice a number subtracted from 18 gives 0.

) -:-I:h of twite a nismbe 18 18,

(vi1 Sum of twice a number and one fourth the number is §1.
(vii) & times a number is 16 more than 8.

|
(viii) 3 less than twice a number is 3.

(1x) 2 more than twice n number is 1.
(x) The difference between a number and one third the number is 16,
(i) B less than one fourth a number is 1.

{xi1) 3 more than 3 times a number is 27.

{x111) 4 times the sum of a number and 2 is 24.

(xiv) One-half of a number is 0.

(xv} The age of Mr. Roy is 10 more than 3 times his daughter’s age and he is 40 yearsold.
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1. Write the following equations in statement form :
m

|~.p+4=|-5 (i) m=T=13 {iii) 2m= 17 [iv) "';=3
o | 18 (viii) £42=8
() ?ﬂﬁ {vi) 3p+4=25 (v} "P-‘i- (v 2 =
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. Solve the equations by trial and error method :
(iyx+T=1l iy 14-x=6 (i) 4x = 36

: 15 - 1
vl Jxg=— v) Tx=1 (Vi) —=50
) 2 (v) 2
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3. Check whether the value given in the brackets is a solution to the given equation or not:
(i) 4n+5=19(n=2)

mn+5=19(Mm=1) (i) Tm+5=19(n=-2)
(vi)4p -3 =13 (p=0)

(iv) d4p-3=13(p=1) (Mdp-3=1B@=-4

Eﬁ&:’{“_f}w gy owks =19 (n=)
LHS = 1+K = ¢ =19 = RH#s
Yofer n=l, LHS FRHS
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1. Solve for x and verify your result :
) lx+d4=17
i) 3(2x = 1) = 5(x - 1)
V) x=(4-x)=3x-4)-4
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EXERCISE 73,
I. 14 added to a number gives 96. Find the number.
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2. 26 subtracted from 3 times a number gives 19. Find the number.
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1, The sum of two consecutive natural numbers is 283. Find the numbers.
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4. If one natural number is 4 times another and their sum is 65, find the numbers.
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